1. Let p(x) be a polynomial. When p(x) is
divided by (x-1), it leaves 2 as the
remainder. When p(x) is divided by
(x~2), it leaves 1 as the remainder.
What is the remainder when p(x) is
divided by (x - 1)(x — 2)?

2 7
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, W

4. Let x and Y be natural numbers,
each less than 20, such that x, y,
X+Yy and x-y are prime numbers.
How many such combinations of
(X, y x+y, x-y) are possible?

-2 _{8}~One
fa) 3 el r:]-j
s '3 (b) Two LB{ r}l;_ ?
(b) -3 -1 o S. - 2\
L, B )(_2{?%') (c) ree 2,0
(¢ 3-x DT (d) None
(d) 3-2x %2
] 5. If(x+1)(x+p)(x + p%)=x? - 1, then what
I A )
2. Consider the following in respect of a i CJJ’Z ‘?’) j
positive real number x : ‘{9/ =1 (3)(7-4 E)[uﬂ?‘ 2 59
1 L 13p (M 'ﬂ).)'- L
L x+=>1 e () 3L (/8E éﬁ%?
X -
_lg () 1 (’9(‘) (Q
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II. (x+—) >2
X

1\
III. (x-ﬂ—-) >9
X
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Which of the above are correct?

fa) 1 and II only

@/II and III only
(¢) 1 and III only
(d) 1,11 and III

3. Let p and g be natural numbers such
that g > p. What is the largest value of

p such that g% - 5p -4 is negative?

(d) Cannot be determined

L
"3‘/ ;i_ 6. If 2+3)* +2-+4/3)* =2, then what is

(2 2++/3)* - 2-43)* equal to?
fa) 0O
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1EGL a5 L el 13
7 If E"'g:g and 'c-l-'é—‘l'——z—:*é—, then

b

what is -I—+l3 equal to?
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54. In a village consisting of p persons, x%
can read and write, Of the males, only

87. If one root of the equation
y% can read and write, Of the females,

2x? ~5px+2p? =0
only 2% can read and write, If x, y> z, <
:};;:8 w;mt is the number of males in the exceeds the other by 4, then what is the
c ]
value of p?
(a) plx-z)/(y-z) P M r (a) 8/3
a
b) PW-2)/(x=-2) A", by 2t
4/3
s 2. :y Py
(d) py/x g is
(d) 1/3

86, X and Y are two alloys of copper (Cu) and
znc (Zn). Alloy X is prepared by mixing
Cu and Zn _in the ratio 5:4, and alloy Y
is prepared by mixing Cu and Zn in
the ratio 5:13 respectively, If equal
quantities of alloys X and Y are melted
to form a third alloy Z, then what is the
ratio of Cu to Zn in Z?

68, An amount of ¥ 10,000 is borrowed at
10% per annum on compound interest
for 3 years, compounded annually,
and paid back in 3 equal annual
installments during these years. What
is the amount of each installment

(approximately)? 4
(@ 5:8 ‘g ‘1 \D ) 16, USD >f7!£/~
e 10 ‘};/%4437 o
b5 7 25 5’( (690 68D (o7
() 6:7 f S/ ( 'ff"?-(b) ¥ 4,237 [0 l!dt}%
[d 7:8 q f / &Z} ) T 4,021 16
26 o 344¢
\& (d 3,811 SVESATS
66, Two students X and Y appcarcd in a test. |2
The score of X is 20 more than that of Y. .’;%E
If the score of X is 75% of the sum of the 59. What is the solution of the inequaTifitg
scores of X and Y, then what is the ratio 5x+3<8x-9 and 2x+20>5x+2? 50
of score of X to score of Y ? L.Q.
fa) 4<x<6 2
£ = [t @0
(b) 3<x<5
b) 4:1
ﬁgﬁ&g): ¥+‘?0 fc) x<3orx>5
fd) « $11 %) Lf 3x.f-3L( L{\( +8O (d) x<4orx>6
X 680 = 7
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Q . A shopkee
t. 60 d[.co::m' P:gu/given three consecutive 63. ABC is a triangle right angled at B. P is
e 'c“not.l 20%l and 25% after the midpoint of AB and Q is the mid-
1¢ article at a profit of oint of BC. ing :
8% on the cost price. Had he sold the P 0 Consider the following :
article after the first discount, how L AQ=+73 units P g
; much profit would he have got? II. CP =452 units R
| .
fa) 20% Lb Yo L/ g ﬁ qg’whic}] of the above is/are required to
4 _'98:?(9( "7l L \{‘@ 7{4_@* Tg{;terrnine the area of the triangle?
m (a) 1 only
() 50% P 2t B
bB2 = (b) 11 only
(d) None of the above t %s.
22 __(f!- Both I and II
61. Let AD be the altitude of a triangle ABC. (@R eEpnbrastots hocced &
If (AB+AC)=p, (AB-AC)=q and
(BD -~ CD) = r, then what is BC equal to? 64. The length, breadth and height of a
cuboid are consecutive integers. If the
(a) ar/p volume of the cuboid is 336 cubic units,
then what is the total surface area of the
(b) pr/a cuboid?
t -
fc) palr (a) 288 square units (70(’ +l> (2 n)'”é
y292 square units 2(0b
d pta-r lII 6]
G52 (c) 296 square units Pl
2
(d) Cannot be determined due to
62. The sum of the height and the radius of a insufficient data
right circular cylinder is 21 em, and the 2 ( 723(
radius is less than the height. If the 65. In a circle of radius 14 cm, APB is a L
curved surface area of the cylinder is shorter arc and P is the midpoint of the 5 Sé
616 cm?, then what is the volume of arc., Let C be the midpoint of the chord Q
the cylinder? (Take m=22/7) ABand PC = 7 cm. What is the length of 2»- '2
the chord AP? Q l Y
(@) 1078 cm? A > &
h&}(-_—-e ’ (a) 3:5cm ; % ?qu.
(b) 1617 cm® (
(b) 7 cm ACWA
hy 6 3 ¢
() 1927 cm® (¢) 10:5cm 5
2)ak  HLtlé
(d) /2156 cm® -~ (51l (4] 00 ' yg
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71. In a triangle ABC, /A = 30° AB=7 cm

and AC = 12 cm. What is the area of the
triangle ABC?

(@) 21 em?

(b) 21J3 em?

fc) 42 cm?

(d) 423 cm?

72. ABC is a triangle right angled at B.
D is a point on AC such that BD is
perpendicular to AC. If AB=p and
BC = J/3p, then what is BD equal to?

(@ p/3
[N S

(s

() J3p/2 5 J’F

BN

(b) p/2 )

(d) J3p /4

sides of the polygon?

73. The difference between an interior angle
and an exterior angle of a regular
polygon is 120° What is the number of

ET

74. An angle 6 is exactly one-fourth of its
complementary angle. What is the value

of angle 67
(@ 12° W |
sl

(b) 15° o ks o
o i |

e $0-726

d) 20° y VE ﬂ?; 2o

(@ T b ‘

’\g/ 4 |

75. The sides of a triangle are 11 cm, 60 cm
and 61 cm. What is the area of the
triangle formed by joining the mid-
points of the sides of the triangle?

(@ 165 em?
¢! l)
() 110 cm? ¢
60
(c) 82-5 cm? Jée- —a ) (6 b) (1
T 20 r'szprD@
(d 72-5 cm? Ty : (121
t9?
£r

76. A pendulum swings through an angle of
30° and its end describes an arc of
length 55 cm. What is the length of the
pendulum? (Take n =22 /7)

FE
O_ 120 (@ 90cm
(@) 9 @'ij\\go = foyD/, 200 __ﬂ/):{/ 2[”4
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@/12 6¢1\~: -\L (@) 5180 Cm; 5
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a1, A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

What is the

remainder when
x2n L

2 . i
y“" +1is divided by x" + 4,
where n is a natural number?

Statement-I :

n is odd.

Statement—ll ‘

n is even.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

ANFB-T-EMT/45A
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82. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

Question :

The product of a natural number N
and the number M written by
the same digits of N in the
reverse order is 252. What is the
number N?

Statement-I :

N+ M =33

Statement-II :

N>M

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(p) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[P.T.O.
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ga, A Question is giyen foll

o
Statements 1 anq g Wed by two

; Consid
Question and the Statcmcnts it

Question :

The last digit in the expan

si
the number (54 D)100 oo

is 1. What is
the value of the digit D?

Statement-] :

D55

Statement-II :

D is a multiple of 3.

Which one of the following is correct in

respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

{b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

ANFB-T-EMT/45A
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84. A Question is given followed by two

Statements I and II, Consider the
Question and the Statements.

Question :

In a triangle ABC, LA=/B- ZC.
Is angle A acute?

Statement-] :

ABC is not an obtuse-angled
triangle.

Statement-II :

Angle C is acute.

Which one of the following is correct in

respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered

even without using any of the
Statements
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by two
Con sider the
énts,

Statements | gnqg 1

Question and the Statem

Question

i;]ca t;'i;mglc /\kaBC right angled at B
—<¥cm. What {3 the '
radius of the triangle? e

Statement-] :

AB =12 cm

Statement-I] :

BC=16 cm

Which one of the following is correct in
respect of the above Question and the
Statements?

fa) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
using  both  the Statements
together, but cannot be answered
using either Statement alone

(d) The OQuestion can be answered
even without using any of the

Statements
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86, A Question is given followed by two

Statements 1 and 1. Consider the

Question and the Statements.

Question :

ABCD is a parallelogram with
ZABC=60° If the area of the
parallelogram is 7+/3 square units,
then what is the perimeter of the
parallelogram?

Statement-I :

The lengths of the sides AB and DA
are prime numbers.

Statement-II :

The lengths of the sides are natural
numbers each greater than 1 unit.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.




I Eh ) A Qucstlon iS givcn fouow (0]
Qf 5 :
s [

Question and the Statements

Question :

‘ AB and CD are cho

rds i
£ intersecting at P, Ifc.f ;PC:: ;l;
LI =48 square units, then what is

CP x PD equal to?

Statement-I :

AP = 8 units

’ Statement-II :

/ CP = 10 units

Which one of the following is correct in
| respect of the above Question and the

Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the

other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
using  both the Statements
together, but cannot be answered
using either Statement alone

llowed by two

88. A Question is given fo
Consider the

Statements | and 11,
Question and the Statements.

Question :
In a quadrilateral ABCD, AB
= 6 units, BC = 18 units, CD

— 6 units, DA =9 units. What 1s

the length of diagonal BD?

Statement-I :
The length of BD is an integer
greater than 13.

Statement-II :
The length of BD is an even integer.

Which one of the following is correct in
respect of the above Question and the

Statements?

(a) The Question can be answered by
using one of the Statements alone,
put cannot be answered using the
other Statement alone

(b)) The Question can be answered by
using either Statement alone

f¢) The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered

(d) The Question can be answered
even without using any of the even without using any of the
Statements Statements
e 2 (P.T.0.
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89. A Question

18 given follow
Statementg | and ||

Question and the Statem

ed by two
Consider the
ents,

Question :

ABC is an isosceles triangle with
AB=A.C= 10 units, |f the area of
the triangle ig 48 square units,

then what is the len th of
base BC? i

Statement-] :

The length of BCis an even integer,

Statement-I1 H

The height of the triangle is greater
than the length of half of the base.

Which one of the following is correct in

respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

fc) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

ANFB-T-EMT/45A

39

90. A Question g glven followed

by two

Consider the
Question and the Statements,

Statements | and 1],

Question :

The diagonals of a rhombus ABCD
are in the ratio 5:12. Is one of

the diagonals equal to side of the
rhombus?

Statement-] :

The sum of the diagonals = 34 cm.,

Statement-I] :

The length of a side = 13 cm.

Which one of the following is correct in

respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using  both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

( P.T.0.
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. Tepresent
covered (in Metreg) the

distance
by tw

O groups of athletic

::,:;n gfr:equenciea In both the Broups are
Distance Cgsi First Group Second Group
0-5 u 3u
5-10 v 2v
10-15 11 40
15-20 52 S0
20-25 75 30
25-30 22 28

97. What is the value of u?
fa) 1
(b) 2
() 3

(d) 4

98. What is the value of v?
(@ 5
(b) 6
(c) 7
(@) 8

ANFB-T-EMT/45A

For the following two (02) items -

Consider the followin
median value 24 :

g distribution having

Marks Number of Students
Less than 10 5
Less than 20 30 75
Less than 30 30+k £G4
Less than 40 48 + k N+ X
Less than 50 SS+k
%0
99. What is the value of k? Lofosinis
(a) 20 ¢
q+U
ot SOEAICIOE |
()22 |
i - RlC
(c) 25 et
74 -
(d 30

100. What is the mean of the distribution?

(@) 21.625

(b) 22.225

(c) 23:225

(d) 24.625
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